From the Teacher: K. Evans If turning in paper packet and work, make sure to
Class: Algebra 1 include this header information on all pages!
From the Student:

Periods: 2 and 4
Student Name

Assignment: Week 4 Teacher Name

Name of class
Pevlod #
Asslonment #

Distance Learning 2020 Week 4

Solving Quadratic Equations

Assignments are accessible in Microsoft Teams on Office 365. Work can also be submitted in Teams,
which I highly encourage you to do if you are able to. You can contact Ms. Evans if you need help with
Teams. You must write your name in pen on each page of your assignment.

The work in this packet is officially due 5/15/2020. | have broken down the work into daily chunks to
help you manage your time. | encourage you to turn in assignments as you finish them.

My office hours are 1 pm — 3 pm, M—F. You can reach me through Remind (class code: @evans-algl),
email (kevans@tusd.net) or chat on Teams. Please continue to check your email regularly.

Ms. Evans will be holding a half hour meeting on Microsoft Teams to talk about the notes for the week
and answer questions Monday and Wednesday. Check in Teams in the posts or the calendar to find the
meeting time.

Week 4: Day 1 (turn in by 5/15/2020): Solve using square roots.

Read over notes on Solving Equations by Taking Square Roots (starts on page 4). Can also read the
book, Explore & Explain 1 in 22.1 on p.1033-1035.

Assignment #1 is p.1039 #1-9, 23 (Skip graphing calculator part of instructions, and
leave answers in simplified radical form not
decimals when necessary)

Other resources that can help are
On Khan Academy

On Algeomulus Prep Academy (West High student made!)
https://youtu.be/RMwoe8sRYvqg
https://youtu.be/2n9aMTIiCfEc
https://youtu.be/qzK1DJ90WSsg

*1f turning in work on Teams (which I highly encourage you to do if you are able to), you can do your
assignment on binder paper and then upload a picture of it. Please write your name in pen on each page
before you take a picture. Make sure your picture is clear and your work is readable.
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https://www.khanacademy.org/math/algebra/x2f8bb11595b61c86:quadratic-functions-equations/x2f8bb11595b61c86:untitled-1082/v/simple-quadratic-equation
https://www.khanacademy.org/math/algebra/x2f8bb11595b61c86:quadratic-functions-equations/x2f8bb11595b61c86:untitled-1082/v/simple-quadratic-equation
https://youtu.be/qzK1DJ90Wsg
https://youtu.be/qzK1DJ90Wsg
https://youtu.be/RMwoe8sRYvg
https://youtu.be/RMwoe8sRYvg
https://youtu.be/2n9aMTiCfEc
https://youtu.be/2n9aMTiCfEc
https://youtu.be/qzK1DJ90Wsg
https://youtu.be/qzK1DJ90Wsg

Week 4: Day 2 (turn in by 5/15/2020): More Solving using square roots

Read over notes on Solving using Square Roots — Part 2 (starts on page 7). Can also read the book,
Explain 2 in 22.1 on p.1036.

Assignment #2 is p.1040 #10-15, 22 (Leave answers in simplified radical form not
decimals when necessary)

Other resources that can help are
On Khan Academy

https://youtu.be/2n9aMTIiCfEc?t=87
https://youtu.be/RMwoe8sRYvg?t=121

Week 4: Day 3 (turn in by 5/15/2020): Quadratic Formula

Read over notes on Using the Quadratic Formula to Solve Equations (starts on page 9). Can also
read the book, Explain 2 in 22.3 on p.1061-1062

Assignment #3 is p.1068 #9-14

Other resources that can help are
On Khan Academy (Two videos can be found on this link)

On Algeomulus Prep Academy (West High student made!)
https://youtu.be/3ayhvAl3leY
https://youtu.be/s80J2dAUUYI

Week 4: Day 4 (turn in by 5/15/2020): More Quadratic Formula
Assignment #4 is Quadratic Formula Practice worksheet (on page 3)

Week 4: Day 5 (turn in by 5/15/2020): Choosing Method to solve with
Read over notes on Choosing a Method for Solving Quadratic Equations (starts on page 12).

Assignment #5 is p.1082 #2-10, 12, 14, 15
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https://www.khanacademy.org/math/algebra/x2f8bb11595b61c86:quadratic-functions-equations/x2f8bb11595b61c86:untitled-1082/v/solving-quadratics-by-taking-square-roots
https://www.khanacademy.org/math/algebra/x2f8bb11595b61c86:quadratic-functions-equations/x2f8bb11595b61c86:untitled-1082/v/solving-quadratics-by-taking-square-roots
https://youtu.be/2n9aMTiCfEc?t=87
https://youtu.be/2n9aMTiCfEc?t=87
https://youtu.be/RMwoe8sRYvg?t=121
https://youtu.be/RMwoe8sRYvg?t=121
https://www.khanacademy.org/math/algebra-home/alg-quadratics/alg-solving-quadratics-using-the-quadratic-formula/v/using-the-quadratic-formula
https://www.khanacademy.org/math/algebra-home/alg-quadratics/alg-solving-quadratics-using-the-quadratic-formula/v/using-the-quadratic-formula
https://youtu.be/V3Y_5CI5y-A
https://youtu.be/V3Y_5CI5y-A
https://youtu.be/3ayhvAI3IeY
https://youtu.be/3ayhvAI3IeY
https://youtu.be/s80J2dAUUyI
https://youtu.be/s80J2dAUUyI

Quadratic Formula Practice (Week 4 Assignment #4) Algebra 1

Solve each equation using the quadratic formula. Leave answers as simplified radicals if necessary.

1. 5x*+6x-4=0 2. 1In°-7n+4=0
3. 6V’ -v-85=-8 4, 11x*-4x-29=-12
5. x*-1lx=-12 6. 6v°+4v=130

7. 2x*-6=5x 8. 3x*-16=11x
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a Ixt-F= 2
3x"=9
S S
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Us-’nj the Quadretic Formula o Solve Eiua,ﬁ‘am
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o Axt+3x-1=0 Sﬁ’al»mdj <0, so io(au’w[y b gadk ¢ and Fl‘ﬂ into ﬁfm(/lév
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¢ Yx* taS = -20x  rewrde into Standancl 7G/m/
tox tlox

Yx*+20x+ 25 =0 K ideatfy o band ¢ and ply into quadiatic formilo
az=4  bz20 Cas {7 rd ! f;

e Z20% J (o) -4(4)(s)
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——
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- Y
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\_/\
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Cl\ooﬁnj o Method F)r Solv{nj Quadratrc Eiua'ﬁan

We have fewrned 4 Wy o solve a Quadeatic Ezuah‘o,u:

1) braphin
j > most jra,ok) and. :’f tnswees are frachens or ircational ($h’ll hove af_)
it & hard 4o 3(,7" Guvrate Gnswery

2) Factoring
> must make =0 Hen f&dn, bot not all palynomia-& Can be ﬁd‘ofcot

3) Using Sguare Roots . L
= lun ongj have x* or () no 76+erm,!

‘1) Quadrahe Formulo
2 Worls every "7\“(/ but ot alwa,d.s most CdeCAf.‘

Ex Solve the quudratic eguahons by any means
1 b d J = You pik one o F Y methods , can be i /fcrm‘f‘
for di f{mrd' problems
G IE3x-§ =0
R lan't we Square ooty (have -3x dem)

—x L
2 Cun & fudor? y lx ~35 only puics that mulhply
2 Fx ~Sx 10 make Ix* and
X none. add % Jo dx
So No ]

W Shee cand —ﬁds« of Wse Sg e roots, quadnatic ]Qm'"l"' 7S
0=t b=-d =8

3t JR)-u@) ()
X= 2(3)
- IJtfq+190 149
L] N 44 18 e 1 Sompl:
L. '31,']'—(_’.‘_ | .Sprme,,.ﬁoumJSrrp/é
—

b x*t¥Ix+b =0 *® wnt us Squace roots Sine has Ix termo

L
X | *fwlor? ox Ix Gx sumto T _(
x| x| Ix Ix ?("‘ 7&1,60 ﬁ.dor womp ‘L‘:fcl:j
x

Gllx| G
(x+)(rt6) =0

¥ pply e produdt popuhy and Solve new ejuahions
Xti=o x-r(.:z J F {7 eZ
-l -6 -

xX=-lor X= 0
—
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[ qXL‘lOO =0
+00 4100 R Mo x teon so con sse Sguare roots (Jd xt

b dc/f &
4, - 100 J bo ard es)
9 9

ﬁdﬂﬂi’ ‘)@’UCf t Whea ¥ both siles|
w
d JxL*QX=’J ‘kcan’i vse r Since has Px demo
- B 43

,2,(" g mulce 20 Sl needed fm fao‘/Wj or ?MM:L ﬁvrmulu
4 %% ¢ =0 >
W (t be fao‘fol‘cd ’ ox

lx  6x None o f poits That
Ix dx my thglg to 6c+ ox*
€x add vp 1o Ix

a=2 b=9 ¢=3 # (unl 79(:/‘91 s0 on 10 Quadigtic 74\,,"01“_ 80 Con MoT fadm.

_ 2 + [2%-4()(3)
x= 20)

-0t Jeq-24

- 4

= ’?"'F H‘;‘\olo ‘Z{L—f

=2Jio
@gw @ &
8,2, 4 = L goes into L 3 Bs so dbaide ML 1:7 2
X = -‘lim
o<
>

e x"+4x-1=0 R No sguare root

L
¥ Fador? b “lx Fx 2 e Mo, cant fac/m"
Yx

ozl bzq -+ ¥ Ouadiatrc ﬁzmdku
BEECES LT 0Ts))
20u)

=—‘1'_'Ju,1w
f 4y
= -4 -im ‘-l/\“ =ZI‘—’
o @
X = -2ty
N—— N\
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£ 3x-9)t+2=20

N R Can Use &tum reols Since Variable On£7 happens inside ()"
3 0xuy’ 24

3 3

l—

J(x-) —f?_ ,,Z.., -

X-4= 12§z

4 @ # dond ,C,,JJ: ol

xX=4taJL o

——

* Rember ever one Hese problems Could have been done VSin He quadahe
J o g e q
formila, bt & might have Juken longer

, wosld have hod do mothplicd ot irdo stundusd o (eek 1) Fhen
apphicd He LL«/W‘ﬁ'(, {szmdb\ (d.cffm’fd\j more wm,alicaded!)

if did ¢ by gudiahe frmule. would look Ule

4xt -100 =0
=49 b=0 .=-l00O

in

o* H"—H(ﬁ)(-«o o)
X =
2(4)

_ 2z [3eo0

- e

+ Lo e
g =e

[[e)
=+ =
X =3

A

axt-100=0
(&x)L- (10):=0
(3x+10)(3x-10) = O

Could have f;w/nco( cas wel! € is wffuencc of lszum_/

3x+10=0 Q@x-10=0
-0 -0 o +L0

==10 JX-‘—IO
A S

& 'wé or ‘to

e
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